IIE FINAL PROJECT

TRIA A BE F 62

110034558 B =

ISR - GR4%[E B



H &%

a
il

e
M\l

o1 44

yo2 S EET

yo3 /.

yos ST S

il
1S

] ]




TR

HERJMELLEBHNAE  SEATEZEECERBIER - ABEFRERIMNITESFELHTE
£ aEERBEEZHENEN  AMEEZLEECHHLERL - EE2LE MR KEEE - AILA
MEE N EBCrAEMN - FAABERBSEBC -

A FRRFLACNN modelZ2 7 AR Fic IR 247 - EEEREEBARRERPEARTER - R
TIRE—RER - HRAKILEEAZRTIEZEEARE

. — o




HRER

5SW1H

Who : —f8EER -~ BiltEf

What : EiEZEFRG ARFER
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impert nmumpy as np
import pandas as pd
from pathlib import Path
impert eos.path

from sklearn. model selection import traln_test_split # skl earnfif trainfltest' S £ 47

import tensorflow as tf #ftenserfloviZv BRE#H ELsiNER

}EAnumpy’ pandas°“%ﬁ%%zﬁ§1¢@¢ﬁ’%ﬂ ' from sklearn. metrics import r2_score #FARF FH - ErE=iER F19THE
7 B 1 Um b A FIARE P RY334625RFIZRFEE R
KR EFRI70085RF & -

from google.celab impert drive
drive.mount { /content/drive’)

image_dir = Path{ fecontent/drive/NyDrive/20-50/")
from google.colab import files
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Z21IFilePathfAge
TEE@%(E\TV ;n\ r |mage Jd

o images
s

40435
40436
40437
40438

40439

Filepath Age

fcontent/drive/My Drive/20-50/1rain/22/113386.jpg
fcontent/drive/My Drive/20-301train/29/1 70287 jpa
fcontent/drive/MyDrive/20-50/train/41/179421 jpg
fcontent/drive/MyDrive/20-50train/47/126188 Jpa

fcontent/drive/MyDrive/20-50/train/30/167003. Jpa

fcontent/drive/MyDnive/20-50/train/27/174935.)pa
fcontent/drive/MyDrive/20-50/train/49/144643 jpg
fcontent/drive/MyDrive/20-30train/25/147638 jpg
fcontent/drive/My Drive/20-30/train/33/146050 jpg

fcontent/drive/MyDrive/20-50train/49/142203 jpg

40440 rows x 2 columns

22

25

41

47

30
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L7 389EEAIRER 2 B BAIRE R R ER -
BEVE I EN 2032 W FArandom_state 0] & 48 & 3R AH B Y BE 1
MR e

image df = images.sample(5000, random state=1).reset_index (drop=True]

train df, +test df = train test split(image df, trairn size=0.7, shuffle=True, random state=1)
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train_generator = 1f.keras.preprocessing. image. ImageDataGenerator |

train_ df rescale=1. /255,

validation split=0. 2

Filepath Age

test_generator = tf.keras.preprocessing. image. ImageDataGenerator

fcontent/dnve/MyDrive/20-50/train/26/162593 Jpg 26
rescale=1. /255

(content/drive/MyDrive/20-50/rain/28/147733Jpg 28 J

e’cnntent."dﬁveﬂ'uflyrDrivefzﬂ—ﬁﬂe’testMEMESBE_jpg 45 train_ images = train generator.flow from dataframe!

dataframe=train_df,

[content/drive/MyDrive/20-50/train/27/178438 jpg 27 x_col=' Filepath’,

) ) i v_col="Age’,
fcontent/drive/MyDrive/20-50/test/31/44435 jpg 31 target_size=(120, 120, HEZAED 1204120 AHREISERSRS
color_mode="zsh’,
class mode="raw ,

. . . ) batch =s1ze=3Z,
2895 /content/dnve/MyDnve/20-50/rain/25/166220 jpg shuff1e=True

seed=4Z,

subzet=" training’

2763 /content/drnive/MyDrve/20-50/rain/23/174142 Jpg
05 fcontent/drive/MyDrive/20-50/test/48/43433 jpg

3980 fcontent/drive/MyDrive/20-50/test/33/42502 Jpg Found 2900 validated imaga £l encmas

235 /content/drive/MyDrive/20-50/train/22/114475 jpg Found 700 walidated image filenames.

3500 rows % 2 columns Found 1500 walidated imagze filenames.




F—E&siaEfilters16 - kernel size&3*3
£ _EEiEE IterA32 - kernel size&3*3

activation &% Arelu -

Optimizer : adam
Loss . mse
Epochs : 100

W

inputs =

= tf
= tf
= tf

tf

tf
= tf
= tf

outputs
model =

model. co

hiztory

keras, layers.
Lkerasz, lavers.
keras. layers.
keras. layers.
keras. lavers.
Lkeras. layers.
keras. layers.
= +tf.kera=.1

& B - pemui

tf. keras. Input (shape={120, 120, 3))

ConvaD (filters=1f, kernel =ize=(3,
MaxFool2D () (x)

ConvaD (filters=32, kernel =zize=(3,
MaxFPoolldD () (x)
GlobalbverazePooling 2D () (x)

Denze (f4, activation= relu’)(x)
Dense(f4, activation= relu’)(x)

3,

3,

ayerz. Dense (1, activation= linear’ ) (x)

tf. keraz. Model (inputsz=inputs, outputs=outputs)

mpile(

optimizer="adam’,

lozs="mze’

= model.fit(
train_images,
validation_dat
epacha=100,
callbacks=(
tf. ker

a=val_images,

az. callbacks. Earl¥Stopping (
monitor="wal_ losz=z’,
patience=1,
reztore_best_weightz=True

activation= relu' ) (inputs)

activation= relu') (x)
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predicted agez = np.=gueeze (model. predict(test_images))

true_ages = test_images. labels

rmee = np.=grtimodel. evaluate(test images, wverboge=())
printl” Te=t EMSE: [:.5f]".format(rmse))

r? = 12 zmporeltrue ages, predicted ages)
print(“Test R 2 Score: {:. 5fl1". formatiz2))

Te=zt RMSE: 3.52959
Test B2 Score: 0. 00056

100 10

8.82989 8.82743 8.84744
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